
Answer on Question #48518-Physics-Electromagnetism 

A 𝑛 = 30-turn coil, with a resistance 𝑅 = 9 𝑜ℎ𝑚𝑠 and area of 𝐴 = 0.02 𝑚2, is in a magnetic field if 𝐵1 =

2𝑇, perpendicular to the coil's plane. Magnetic field is 𝐵2 = 3𝑇 in ∆𝑡 = 5𝑠.  

How do I apply Faraday law to find the induced current? 

Solution 

Aaccording to Faraday's law of electromagnetic induction, the rate of change of flux linkage is equal to 

induced emf: 

𝜀 = 𝑛 |
𝑑Φ

𝑑𝑡
|, 

where Φ = BA is magnetic flux. 

The induced current is 
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5
= 0.013 𝐴 = 13 𝑚𝐴. 

Answer: 𝟏𝟑 𝒎𝑨. 
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